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Pas de calculatrice

| Compétence travaillée

| Difficulté | Socle commun | Nombre d’erreurs |

| Calculer une longueur avec le théoréme de Thales | Jk \ v \ |
Calculer la longueur demandée.
1) | vuy//rs) 2) | UB)//(FG)
U Y Rr—3em H EH =5 cm
5 T VR = 5 cm E = GF =72 cm
VU = 4 cm [F IE = 9 cm
R
TS = ? HG = ?
3) | @v)//(sR) 4) | (En//(CH)
4 SV = 3 cm I E GF = 3 cm
U : VT =5 cm H G HG = 4,2 cm
; SR = 4,8 cm EI = 7 cm
F
TU = 7 FE=7
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1) | VO//(TS) 2)| UE)//(FG)
Y Y ORI —3em H EH =5 cm
5 T VR = 5 cm E ¢ GF = 7,2 cm
VU = 4 cm [F IE = 9 cm
R
3)| @U)//(SR) 4)| (ED//(GH)
4 SV = 3 cm It E GF = 3 cm
U . VT =5 cm s G HG = 4,2 cm
TS SR = 4,8 cm El = 7 cm
F
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